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1. The correct sequence of taxonomic |1, WACFTOLD aa;:;d NG Bo3Ng FOOINT -

higzarchy is <0eS 1 Des acs
(A) Genus — Family —» Class — Order (A) ST - FWO — TFT* - SBFO®
— Phylum — Kingdom — Species
- PO - WINK — JYes
(B) Species — Genus — Family —
Order —» Class — Phylum — B) BPed — VI — RO -
Kingdom SBFOT - B - JOI -
(C) Species — Family —» Genus — m@% |
Kingdom — Order —» Class —
Phylum (C) JPed — WWO — VeIT® —
(D) Species - Genus — Family — Class RN, — BT - TI
— Order —» Phylum — Kingdom %@w
—
2. Match the animals of Column I with their e s
respective classes in Column II and — SBFOT - T‘-éle.)da‘ -3 md.)_?_}_,uﬁ
choose the correct answer. '
2. ORI SQRT T EINIR Tow0 11 BT
Column I Column I1 a[nE (W) nort BN TR0y,
1. Aptenodytes I. Aves #Qmwd@tﬁd%ma'
2. Hemidactylus II. Chondrichthyes O I o0 I
. STJeBEST 1. [INEL
3. Carcharodon III. Mammalia 1. AR oL
g &ommiﬂw:ﬁ i § aﬁ%dﬁﬁ&a:esbﬂ%
4. Pteropus IV. Reptilia
3. DU TETREF L. IFIND
V. Osteichth
AN 4. W@y IV. RO
Select the code for the correct answer
from the options given below : V. ST
1 2 3 4 Xoge3ne AT0000T O mdﬁﬁdiﬂﬁ&k g
(A) V II IV I 1 2 3 4
: 0 (R | M | G, Qv o
(B) 1 1A% 111 II
© V 1 II III © vV 1 - I
D) 1 3% I III D) 1 v 11 111
Space for Rough Work / L0 305% ‘3{#
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3. Choose the correct floral formula of the
given floral diagram.

A) & 55 Kio49) C4 Agyo Gi3)
Y S
B) & é K@z Cs Aq Goa)

€ o é Koo CyAg y Goo)

(D) & é Kova Cg Agyq Gy

4. In which type of vascular bundles are

RRBIR) SOHRPA.

PP g
@)

)
e

"I“ “‘

A) @& é K(242) C4 Agyp Gig)
F 7
(B) & ':'5 Kg)s2 C4 Ay Ga41)

€ @ @ Ko42 C4 Ageq Go)

(D) & é Kov2 C4 Agq Go

3. @9, dANS PRI RoBeDB I,

4. oINS WMAVT* WOB'TY, oo WX

TROBONRD wotde SR BOTHZS
Xylem and Phloem present at the same 8 '
radius ? (A) Beoder
(A) Radial
(B) a‘mz%d
(B) Closed
(C) Conjoint (C) BOTDOWOE®
(D) Exarch
(D) BB
Space for Rough Work / WO 3&2‘3‘1 3
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5. Conjunctive tissue is present between | 5. #Ot&tﬁ&‘ @ormmody) (1) = Gi) I

) and (i) in (iii) . S@B (i) . 89 Bor@IBIBT.
(A) (i) Pericycle (ii) Endodermis
(iii) Dicot root

(B) (i) Xylem (i) Phloem (iii) Dicot root

(A) () BOFBE® (i) QOBRBIOFAF
(iii) QFY ARTed

. s ses |
(C) (i) Palisade parenchyma (ii) Spongy (B) (@) oo (i) Fpeoddo (iii) aﬁﬁ v ”’%d

parenchyma (iii) Dicot leaf 23eTd |
(D) (i) Xylem (ii) Phloem (iii) Dicot stem (©) () TOFew WO LYR> (i) AWoe3
TR0 3 (i) QRY AT 25
6. Identify the major site of biosynthesis of D) ) a%em (ii) FPpeoddo (i) &gqu 03
lipids. %

6. JRDTN JWBENYR), WSO won
rOTO8R.

(A) n'ad?,\ ErstelRrnd

(A) Golgi apparatus
(B) Mitochondria

(C) Smooth endoplasmic reticulum

(SER) (B) d%mmo@m
(D) Rough endoplasmic reticulum (©) ﬁ?._)& @o:ﬂ@%ﬁf 6‘5'3&%@&‘ (SER)
(RER) - (D) 2B DORRTRYT Te3B),O (RER)
7. The following graph shows concentration | 7. 391 #3003 dgoi::a ﬁz‘aﬁ 238303383800
of substrate on enzyme activity : =2y0¢3 ?;iﬂdd IO TooZBoBdR)
=
30323 :
Vmﬂx
A

i

>

What does the Y-axis represent ? ”
28, Y-98030 QIR BEAQROIES ?
(A) Temperature .

(A) R
(B) Velocity of reaction (B) $odob Fen
(C) pH (C) pH
(D) Pressure D) 3@

Space for Rough Work / 2.0 #&Sa; g
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In the maize plant, COy fixation occurs in

both mesophyll and bundle sheath cells.
The enzymes involved in these cells for
the process respectively are,

(A) RuBisCO and PEP Kinase

(B) PEP Kinase and Pepsin

(C) RuBisCO and PEP Carboxylase
(D) PEP Carboxylase and RuBisCO

In the following reaction, identify X and Y
respectively :

2 + Mg2t
Pyruvic acid + CoA + NAD X »
Y + COy + NADH + H*
(A) Water, Acetyl CoA
(B) Acetyl CoA, Pyruvate
dehydrogenase
(C) Pyruvate dehydrogenase, Acetyl
CoA
(D) Pyruvate dehydrogenase,

Oxalo-acetic acid

Bodrdeed IZT WARLO" [T WoBe*
SeT BREBNTTBOOR,  BOTROT~T3 - S5BT=°
OO JIBOI0ITW. B X300,
TRSRLLR $eanish, BROFHOTON

(A) ToRR = Tw® FeT*

B) B gIex® RO B

(C) TowRe R We® Forwr e

(D) B FormrsPer® W3 TOVAR

B3 YNT TR0 8,0300308,
9308,03050N X 3033 Y o), 03BN :

2
50008 &3y + CoA + NAD* Mg{ A

Y + CO, + NADH + H*

e, Eﬁ%%@‘ CoA

RO CoA, Fooases
ReFERURIC®

TOOeEr BRERWIR’, VP O™
CoA ;
Foosees BRRRRIRT, LFdne
eOREITT eI

(A)
(B)

(C)

(D)

10. Which of the following factors is 10. TIRITI %ﬁiﬁf&ﬂd mﬁbmmmwﬁ@@q
favourable for the formation of (e:s@gpdrasez) B IPNIS oInm  =o3x)
oxyhaemoglobin in the alveoli of e BRTRAYeD
human lungs ? s : , 8

(ev3go3nnien) eRIBROFTHNGS ?
(A) High pCOy S
e (A) B30 pCO,
te tu

(B) Lower temperature B) das ¢ %a,, :
(C) High H concentration ©) anga H W
(D) Low pOy (D) 3@ pO,

Space for Rough Work / 2,883 iﬁﬁi g
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11. Digestion of both starch and proteins is | 11. && (FFF) = IpeINIoES
carried out by enzymes of 23e£0F8,0300000 BWT $ENVOT IWAZ0IT
“;‘) gal?"'““-"“‘m (4) 233 TR
(C) ]:1 5 (B) T3
(D) Pl e_]mce. Ny © 2353
(D) Pancreatic juice D) Sedneeds o1

12. The type of epithelium found in the inner | 12- PCT T8 ©030S0nmQma emides
lining of PCT is SleTanler
(B) Cuboidal epithelium (B) g esdSeas
(C) Glandular epithelium (C) Ropeodd eRoSeads
(D) Ciliated epithelium (D) TpeRnE eSSy

- 13. BOTR,CLWRRCRT 20805

13. Select the correct Rh-blood groups of the 3y aotes » f ¥ o iREe
parents, whose child is affected with SOTODT  Fod  FooWnY FooIRT  TEX
erythroblastosis foetalis. RIOPYNETIT &S00, SO ?

(A) Both Father and Mother are Rh +ve (A) 303 @g&;ﬁ@%d@ Rh +ve

(B) Mother is Rh +ve and Father is (B) oW Rh +ve &3 308 Rh —ve
- . (C) 3od a'acmﬂ%g,dm Rh —ve _

(C) E;t]_l_‘l:‘;ther and Mother are (D) 3o Rh +ve &3 30020 Rh —ve

(D) Father is Rh +ve and Mother is 14. 3 NI otnd Road nRomd [
B Broy,  OorRrEIIAD  (MFOHRTE)

' R N WTOBOE BRABIR0 BRODTS ?

14. In which of the following groups do the @Ogm i o3 ?5-{2._ 2o,
male and female gametophytes have (A) TR IZRD DX OB Wew
independent, free living existence ? - AL
(A) Bryophytes and Gymnosperms (B) ROV ﬁ,,'-_:;r{e;b R0 @%ﬁ%ﬁ%

(B) Bryophytes and Pteridophytes C) Ty RIND DX  OWFIeR
(C) Pteridophytes and Gymnosperms ﬁfgﬂ%
(D) Algae and Gymnosperms (D) TN B BT Wew IYNATL
Space for Rough Work / 208 GQ#% %#
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15. The hormones of “Fright, Fight and

Flight” are

(A) Thyroxin and Oxytocin

(B) Thyroxin and Melatonin

(C) Adrenalin and Nor-adrenalin
(D) Gastrin and Secretin

16. In the given options, which one cannot
propagate by vegetative means ?

(A) A marginal piece of bryophyllum

leaf

A middle
internode

(B) piece of sugarcane

(C) A piece of potato tuber with eyes

(D) A piece of ginger rhizome

17. Among the following statements related
to pollens, choose the correct one.

Statement I: In 40% nf: angiosperms
pollen grains are shed at

3-celled stage.

Intine is made of cellulose
and pectin and it 1is
discontinuous with germ
pores.

Statement II :

(A) Both I and II are correct

(B) Both I and II are incorrect

(C) 1is correct and II is incorrect

(D) 1Iisincorrect and II is correct

15.

16.

17.

B 39NIINGY,

| D951 :

“Pe©, Fer© S G837 BTN
(A)
(B)

©
(D)

FoosR* o) GtdRAT®
Foods SO Sowtireds’
9RTOS R PT° VBRI’
AR o3 A

ORI
RoTEREBE BRBRPOY,

(A)  WRERO HS0D BRVFSS 2007
(B) BWNBET 9030NYE S0GLn

(C). BRNBEIOS Feaynied

(D) 3000 GBI 20T 0w

FODT

TJoondecaons Wi, JeRT  BevENYY
ROCIRTOTEROTR) BORRA.

3838 40 T BFBWew IZNTY,
Toon Beeadnish 3 Bpesny
BoSTE WRONBOIRMZS.
QOER* FPTOI0 FLBReT*
W THS® 0T BN BIIE
oliatatdelaniy
Z0ITTONTOR) DL,

I R0 I TR TePINER FOH

I 3033 I T0RR BePENeio STND
Bewd 1 003N 1T BTN

e 1 3TN 1T FOOIRNTS

ZPFII :

(A)
(B)
(©)
(D)

Space for Rough Work / 2,08 Soﬁ% i
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18. Match the animals of Column I with the
Column II and select the correct options

among the following :
Column I Column IT

1. DNA I. RNA polymerase
replication

2. Translation II. DNA polymerase

3. Transcription III. Reverse

transcriptase
4. Reverse IV. Aminoacyl
transcription synthetase

Select the code for the correct answer
from the options given below :

1 2 3 =
(A) II 1AY ITI I
(B) II IV I II1
(C) II III AY I
(D) 1II I v ITI

19. When pollen grain is shed at 3-celled
stage, name the cells it contains.

(A) 1 vegetative cell and 2 male
gametes

(B) 2 vegetative cells and 1 male
gamete

(C) 2 generative cells and 1 male
gamete

(D) 2 male gametes and 1 generative
cell

18. ®eo I dgt oo II O Wed DBrody,

19.

pfolendprint eoﬁ%od:ag_ 308

gooo I oo II

1. B3.8°.. I. ©0°.a8°..

S @ema* T OTTex*
2. R LIRS I 8.05..
O
3. HIATDT L OBIF
DA
4, OJx°F IV. eR)Jee-veor
LR RAT lelatxzad
RoBe3ny FHTODDOT 3O YVITAFR) 0% :
1 2 3 “
(A) II v III I
(B) II Y I III

(C) II III v I

D) I - I vV III

BRDO 2BeBREBRY ToSWE) BoIRBeLNT

zﬁedﬁme#ﬂ#ﬁi BROR.

(A) 1 Se3edeesss® BeIEReS, 2 Nod
FleTantaovlatsd

(B) 2 Fe3edeess” 2eSBned, 1 nordd
oo

(C) 2 xnJTeeder Bewsnel, 1 No@d
IleTaninblate!

(D) 2 Ro@> orweaonsh R
1 =33eesea® 2endneS

Space for Rough Work / 2080 30:!3% #g-"
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20. Even in the absence of pollinators, | 20, ;ﬁmﬁmdﬁﬁ@e&a%&a wemE%ma&QL 3

assured seed set will be there in @aﬂ: R a3 %ﬁaﬁu&d’

(A) Chasmogamous flowers

e (A) mﬁd@mﬁmm‘ BAR)
(B) Geitonogamy
(B) 2eedndnmDd
(C) Cleistogamous flowers |
(€) HRRIMI BRI
(D) Xenogamy
(D) 23eRRMeeD

21. The process of conversion of non-motile | 21, 3BoTTLI %ﬁmrwwﬁﬁa zdvéodw%
spermatids into motile spermatozoa is e s ;-daass-asmﬁ:p

called

8,030030) &oert FTODWBITO
(A) Spermiogenesis
(A) ﬁ&o&aeeﬂaﬁw
(B) Oogenesis

(B) nREIFTE
(C) Sporogenesis

(C) RedredSAx
(D) Spermatogenesis 3

(D) %&Fﬁﬁftﬁﬁhﬁ"

22. Several mammary ducts join to form a | g9 BoOR) abaﬁ =00 R Bed evosNT

wider structure called eaneE 83303053

if 3 duct
(A) Lactiferous duc A) @%‘L 3t w00

M lobe
(B) ammary lo (B) u_.b_% aii'ﬁ b L

11
(C) Mammary ampulla ‘ mﬁ dl& 50 S

(D) Mammary tubules

(D) [RFO W[ D

Space for Rough Work / 2,583 SUS% %ﬂ'f
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23. The signals for the population process

originate from

(A)
(B)
(C)
(D)

24, Match the following Column I with

Muscles of uterus

Fully developed foetus and placenta

Placenta

Hormones of ovaries and uterus

Column II :

Select the code for the correct answer
from the options given below :

Column I

Surgical methods
Barrier methods

Natural methods

Chemical methods IV. Lactational

Column II

I. Condom

II. Pills

III. Tubectomy

amenorrhea

24.

23. 2YrvY I VIS Rewsady

BOLI) BOBOZT

(A)  nggor3od mﬂ{mﬂ%

(B) moprrmon WIS P KR
~deplovel

(C) o030

(D) ©omZod DI ngeer3odd

TORRCF R NTO

o0 I @aig{ 5000 I1 BRodnt BRoD ;

oo I go&o II

AVFTS® Ao 1. 50RBREIIND
w0000 DGR 1. VRN
SANFT OIS IL aR,380

TORROINE LRI IV. RFeRT*
SDenioigelensy

Rogens IHOOOT IO YVITRTR) 30X :

1 2 3 4 1 2 3 4
(A) III I 1\ II (A) 1III I IV IT
(B) III IV | IS II (B) III v I II
C) IV III IT I (C IV IT1 II I
(D) 11 I III v (D) II I II1 v
Space for Rough Work / 2,083 Gvﬁi ",-g-"
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25. The following factors indicate improved

reproductive health of the society. Choose
the correct option.

1. Better detection and cure of disease
2.  Better post-natal care

3.  Medically assisted deliveries

4. Increased MMR

Select the code for the correct answer
from the options given below :

(A)
(B)
(C)
(D)

2, 3 and 4 only
1, 2 and 3 only
1, 3 and 4 only
1,2 and 4 only

ABO blood type in man is an example of
1 Pleiotropy

2. Incomplete dominance
3. Co-dominance
4

Multiple allelism

Select the code for the correct answer
from the options given below :

(A)
(B)
©
(D)

1, 2 and 3 only
1, 3 and 4 only
3 and 4 only

1, 2 and 4 only

25.

26.

83 8INT FW (£208) Rsb BEBRRE BuI
Slefoluyt (aﬁ@,d%em‘ ) ﬁama"’ﬁoﬁ)daigl

RIS jINYY, ROIRTOT,

eod%m@. '

1. euded oS0 T HeNE TR
ROIDRRONT

2. BIN J030T eV IR
3. T 8eodd SO BB
4. QR .G0°. By

R QeRDT  BORVOT  ROOINT
UZTEN BOFESTTON :
(A) 2,334 INE,

(B) 1,2 R03)3 I,

C) 1,334 =003,

D) 1,23034 Jng,

BRISI ABO 088 1oP) [wIned
YUTIOBORIBT

Q030eEdR e

ITJREIF H[POI

ABZ 03

O VOO,

3R QeRTOT  BONVOT
VZ0TON BoFESTION :

A) 1,203 3 Ing,

(B) 1,3 304 INg,

(C) 334 T3,

D) 1,234 20T,

W bO =

plelewipial

Space for Rough Work / 2,08 ivﬁi o
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27. The codon on mRNA are 27. OWF.HT°. .. BoeOT JodeSnish
CAU - CCU - AAA - CUG. CAU - CCU - AAA - CUG.
-~ -
Identify the correct sequence of amino Eﬁﬁ%@ﬂa&tﬂdﬁd ea{‘m Eﬁ*:?d;_)d Ndwm@t
acids. BORS.
(A) His - Pro—-Lys—~Leu (A) His—-Pro-Lys - Leu
(B) Pro-His - Lys - Leu (B) Pro-His - Lys - Leu
(C) His - Pro-Leu—Lys (C) His - Pro—Leu—Lys
(D) Pro-Leu- Lys— His (D) Pro- Leu- Lys — His
28. DD[TY, ©dcInE &0 WFE wegd
28. Choose the possible genotypes responsible FO0L0T ﬁfmfﬁéédﬁi &30
for lightest skin colour in human beings.
(A) AABBCC
(A) AABBCC (B) AaBbCc
(B) AaBbCc (£ aabben
(D) AABbCc
(C) aabbcc .
29. Mo I T VTR TINI. T&
(D) AABbCc v S b AR
a:’»mo&)dduaﬁd% o oS {eln ovelelalo)
BMOF 0P BRODTOITT Tone 00T
29. Both male and female have normal vision IWFoE3R  F0emIRS ‘mmmmgm
though their fathers were colour blind, %
and mothers did not have any gene for BmRoBCODOE, FBEG e Nomy e
colour blindness. The probability of their 33@05 BIROT  Boned dmrotﬁéodaag
daughter becoming colour blind is BROTW AOPINEODT ) ?
&d
A) 0% A 0%
(8) * 16% (B) 15%
©€) 25% (C) 25%
(D) 50% (D) 50%
Space for Rough Work / .08 303‘% R
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30. Find the nucleotide sequence of the |[30. ©0eSp ©&[AY ITHR  OTROTOH
:ﬁ:ﬂ::icf codes for the sequence of mRNA dﬁ% ‘i’me%d
TR e e | 4 . ‘Met — Leu— Val — Arg — Ala’
‘Met — Leu — Val — Arg — Ala’ an - :
choose the correct option from below : .—udf‘é&;ﬁ)&’%é& INSZieos SOk :
(A) AUG-GAU - GAA -UAU - UGU (A) AUG -GAU -GAA -UAU - UGU
(B) AUG - GAU — GAA — CGU - GCC (B) AUG-GAU -GAA -CGU -GCC
(D) AUG-CUA-GUG-CGU-GCC
(D) AUG-CUA-GUG-CGU -GCC
31, 3O FOF 90T oSO B3 FENI
81. Sickle-cell anaemia is due to the following odnE  MOMrRS W’ T
mutant gene : ‘ Zoe3 Q#chg ?
A) CTC-CAC
b (A) CTC-CAC
(B) CTC-GAG B) CTC— GAG
e () CAC-GUG
) - GAG-GUG (D) GAG-GUG
82. In the given transcription unit, identify | 82, &3 #Jri ﬁm&.%jd)aﬂ eI $TS s 1
the regions I and II respectively. 53 11 53'2,_ 3o RO
Coding strand BRERONT ROT®
3’{ o 0 g stran o 5’ 3r [ & [Fom 5f
(1] B8 1) B
' —=m => 3’ 5 = = 3
Template strand Eﬂoa}g&s‘ %ow
(A) Promoter and Terminator (A)  FpBee0” TFY LAOFRRTT
(B) Rho factor and Sigma factor (B) g (Rho) Wic‘ B3 %%@ioc
(C) Terminator and Promoter (©)  wRoFSewt” B3 FpHeewo®
(D) Operator and Inhibitor (D) eTBeLT* WO B* &WET*
Space for Rough Work / 2,080 #Uﬁi %ﬂ# '
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33. Which of the following sequences of |33, YPYNIY oInT FTedodv mRNA evelU]avY
mRNA ired fi lati ‘s &3
are requi or translation 5 5:.; SeB* 8 o3on ﬁmﬁt%dja P e
process but are not translated ?
BT SBT BP0 ?

(A) Stop codons

(A) QeonE Jode3nsd
(B) Anticodons

(B) = Rode3nsd
(C) m’cgs, ToFe3nsd
(D) o30.83.¢30°,

(C) Sense codons

(D) UTR

34. Identify the palindromic sequence in the | 34. 83 NS GIBINYY Do ea0s*

following base sequences : 5RBROTRD O8N :
) :

A) §-CGATA-Y3

Ll () e = 9
¥-GCTAT -5 & e=LE ATt

33 -GCTAT-¥%
B) 5-GGATCC -3

% 1 s S e
#-CCTAGG-¥ i

3¥-CCTAGG-¥%
€ ¥-CCTGC -3

R T B e — =R i
gt ek o © 5-CCTGC-3

Nl IS
3 -GGACG-¥%
M 55-GAATTG-3

g il e M ¥-GAATTG-3
3= ' TT-AA C —.5 e bt el |

-CTTAAC-¥%

35. DNA, present in the nucleus, was named | 35. 83 8ReIFOBTOT DNA o) ‘BRSNS

as ‘Nuclein’ by 2083 BB

(A) James Watson and Crick (A) ﬁed:: TR R0Z) 35
(B) Friedrich Miescher (B) T@oF® I

(C) Maurice Wilkins (C) RR0F* DO,

(D) Rosalind Franklin (D) CemRdow T30’

Space for Rough Work / 2,083 ﬁvﬁi.i 3
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36. When does the lac-operon in E.coli [ 36, 3. oS o5 &moo odroemen “agse
become “switched on” ? 33 O3 ?
-
(A) Repressor binds to operator (A) OFPRO® ow' E«AJ ©TOeE30”
R, OV LJorE® D
(B) RNA polymerase binds to operator S 2% ~
(C) L i t and it binds t o e
actose 1s present and 1t binds to
the repressor (C) mga%“’ﬁ fad%@d) Q@”‘Fﬁ
(D) Lactose is present and it binds to BORDPTOOT
RNA polymerase (D) RBRER* BT, LT
RNA-Z90TeT TR £908303)c300%3
37. The primary gases that were used by |
Miller in his experiment are 37. e gy i @ edserisd o, o e
(A) CHy, NHg, HyO, Hy TOHB BN Mo ‘
(B) CHy, CO9, Ny, SOq (A) CHy NH3, HyO, Hy
(C) CHy, COy, Ny, NH; (B) CHy, COg, Ny, SO,
(D) CH,, Ny, NHg, H (C) CHy, CO,, Ny, NHg
(D) CHy, Ny, NHg, Hg
38. From which of the given plants is the | !
drug whose skeletal structure is given 38. 31 SRV TWOIT AR, Iﬂmc&dﬁdmdﬁ
: OH BRTBR0DRNT ?
i OH
.
OH &
o =9
(A) Papaver somniferum (B) ZITO? me@ﬂwdo
Q&ERC
(B) Atropa belladonna B)  2ep e QR
C) Foowr A&
(C) Cannabis sativa ©) N ’""ui@ﬁ,
(D) 0 ©0
(D) Erythroxylum coca fﬁ@fg
Space for Rough Work / bﬁ&}b 3@:#‘;%#
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39. The allele frequency of ‘A’ and ‘a’ in a
population are 0-6 and 04 respectively.
The expected frequency of heterozygous
individuals is

39.

WOTD WEIOBOTW ‘A’ WDFY ‘a’ ©dewr
SRS (Oea @em R 308N
06 R 04 N3, VDL
BdRINI® RednY SIS

(A) 48%
(B) 36% V) e
B) 36%
(C) 16% 2
(C) 16%
(D) 24%
(D) 24%
. 40. VPNV BROBE 503 CINTYZO ROTISY
40. Identify the odd one from the following : R~ H
(A) o-Interferon (A) E-QO&D‘&@&:
(B) Oncogenic virus (B) 080exQT° a'.éd-q"".
(C) Proto-oncogenes (C) Tpetdne Sodpended®
QY LY raye D) 30.D. $3arish
: ; 41. R TF N JedeTmonomen
41. During replication of retrovirus
(A) Viral protein is introduced in the (A) %def RPeLse”  L3gecd ﬁ@fﬁﬁ;
host cell. TOWOLIRORITS.
(B) Viral RNA is introduced into the (B) FO&F ©U°.a7%.0. 0RO @3geod
host cell. Be38 TOWOWRVBIZH.
(C) Viral DNA is introduced into the (C) FO& B.aFf.o. oo e8goDd
host cell. ifaw&; ﬁbﬁ@ﬁ%&éd.
(D) Transcriptase enzyme is introduced AT #0093
into the host cell. D) ST e L
TOWWRILBOIT.
Sﬁaca for Rough Work / 2.0 Gvﬁ%%ﬂ
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42. In malignant tumors, the cells divide
rapidly and move to distant parts of the
body and cause new tumors. This

42. SIRONFSowr WRIOTNEY, BreBnd e
PRIV Wed, TRIB  eonnen
IO, TORF, BRI BRFR0D

property is called
' SRBE  $od, B NS, FSC3WH
(A) Metastasis ; =
DeS0INT)T
(B) Metagenesis A) Eﬁjmﬁ%‘h -
(C) Teratogenesis (B) DoedIuxe
(D) Mitosis (C) &3ooednedSva®
(D) RW)ERF*
43. The breeding technique that is useful to
expose harmful recessive genes is 43. TORFPT* RS ﬁe@ﬂﬂé IzlovelDb
) \
(A) Outhreeditio WHROINIT, WERONT 00853 0oy T30mT
w
B) Artificial insemination a9
B) &83F2800HeF QRenSess*
(C) Inbreeding (B) * GOt
(C) <a'Reron
(D) MOET
(D) MOET
44. Germplasm collection refers to 44. BIFFDIIIT ;5055 2058
(A) Collection of all alleles for all genes (A) Vo 2oy ROBoENSE e
in a crop. 390N BonBRIDT.
(B) Collection of all alleles for few genes (B) WPaD o ROBONE IR
in a crop. 9DeONRY FoNGRODT.
(C) Collection of different alleles for all (C) wWed Wed BFoD QR ROFEVNY
genes in different crop plants. 36T 2368 e9deons? KoM ERONE.
(D) Collection of few alleles for all genes (D) o338 WInd roOmORY IO
in several crop plants. esOee0n MonGRoNs.
Space for Rough Work / 208 3@5!1 %@
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45.

46.

The microorganisms involved in floc
formation during sewage treatment are

(A) Anaerobic bacteria and fungus
(B) Aerobic bacteria and fungus
(C) Autotrophic bacteria and yeast

(D) Fungus and algae

Match the following bacteria of List I

with  their commercial products of
List IT :

List I List I1
1. Lactobacillus I. Butyric acid

2. Aspergillus niger II. Acetic acid

3. Acetobacteraceae III. Lactic acid

4. Clostridium

IV. Citric acid
butyricum :

Select the code for the correct answer

from the options given below :

1 2 3 4
(A) III II v I
B) I v 111 II
(C) 1III IV II I
(D) III IV I II

45. dn¥3  ReOR) RoRORDWR PN

303RO0E.
ReanPows

(A)  eSeCrws R 3e008R B SOe0s
(B) 0T waydeoodn R0 ddeos,
(C) 330 e wELO0IR T B4°.
(D) &dcoB, &R FBonsh

amd@:d%d RRgo £

5000 [ SOWE wR30HNRYI) sowo II T

ararézsg w:g‘aiﬁ#moaﬁ BROOY,
HQS%@T’AD& :
goeo I goeo I

1. RERCLRHACT 1. WRHOFT U=
2. QROWQIT FwO* I GRS &)
3. waidpeeRFdey 1L 3T &)

4. RIOBODIF IV AT &5
20T

RoTEING ATODROT RO wgdﬁ%'f’a’% &0R :

1 2 3 4
(A) III II IV I
B) I IV ITI II
(C) III IV I I
(D) III IV I II

Biology
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47. The technique of bombarding plant cells | 47
with high velocity microparticles of gold
or tungsten, coated with DNA, is

(A) Microinjection
(B) Biolistic method
(C) Heat shock method

(D) By disarmed pathogen vector

48. Choose the bacterium which is not a 48
source of REN.

(A) Haemophilus influenzae
(B) Escherichia coli
(C) Agrobacterium tumefaciens

(D) Bacillus amyloliquefaciens

49,

49. Silencing of a specific mRNA translation
could be achieved through

(A) Antisense RNA
(B) RNA interference technique

(C) Both (A) and (B)

(D) Microinjection

B.07%.. Sl JIRE  Worel BT
BonA® Ag  FEINTY, WHY Sertmon I3
2 3eBNOR B BB B.OT°.2. WIR
0RO NPOR AN

(4)  SBRa0LE

(B) wodnedrs P

(C) &eeF T PE*

(D) 23-BRRFE TWERBT FIO°

REN & Rpo3gn wmRs0oinss)
Slevwieoi2l

(A) &CZRLPOTT Y 008003
(B) ea:gaee&m iac;j
(C) &riReRdeo0d0 800S0, |

D) RAT &)dpdER.TeIDLT’,

RASTelg S DN R mRNA
RTIRFI, RIS Bwews
SRBMOBE Q0BT

(A) &,083%5° RNA

(B) RNA 0830°308°, ééﬁqﬁ‘
©) (A) R (B) 20B00TR
(D) FB, @0RFIROT

" Sﬁaca for Rough Work / 2,083 #O!i% i
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50. In which of the following steps in DNA | 50. 3.0%.0. WIFR), 203033 cdns

fingerprinting technique are labelled 20339 823 VNTR e ned
VNTR probes used ? L3 % >
WEROZT ?
(A) During isolation of DNA A) B.0F.0. 0535% R Ree3ess®
(B) During digestion of DNA by REN plesow i
(C) During electrophoresis (B) B.07% .. OO HT°.8.23°. NYT
320N

(D) During hybridization
(©) a@i%@wdem‘ Snzon

D) P Inadmn

51. dsRNA is used to develop pest resistant

tobacco plant by a technique called 5l. dsesTF.onF.o. 01352; WP B30 eSE

(A) Polymerase Chain Reaction (PCR) 302TB0 AT, BEOXVT B0Z2PS

(B) RNA interference (RNAi) (A) TODTexe ¥ 30d (&J.Fa.fﬂﬂ‘.)
(B) &0°.05".2. QOLTTHPI,
(wc‘.aa‘.a.m.)

- (C) Electrophoresis

(D) Insertional Activation
(C) mﬁﬁ.%ai;adm*

D) VI*RIFIF }° ﬁﬁ%ﬁ?ﬁa’

52. The interaction between ' “Cuckoo and 52. “son mm gnene’od) 20308 ﬁ,doﬁ
Crow” is an example for 5

NVTRBORORIZTS
(A) Competition (A)  T0L3R
(B) Predation B) HERT
(C) Brood parasitism C) wRAT* Eﬂ'%dbhwﬁo
(D) Mutualism (D)  &e),0000%0

Space for Rough Work / 2,083 iv#% :L#
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described by the equation dt
~BOFT COWAT aﬂdaﬂeﬁﬁm@t DWORTI,

20300, T3y K’ AnER) BRI

- Bees 2300
(A) r - intrinsic rate of natural A) - ITYIF T o IO
decrease, K — carrying capacity &3,e7°, K - 5,000007" 353,28

53. Verhulst-Pearl logistic ~growth is|gq dN _ K—N} 0BT B TR
i . g

%=I‘ K;KN], where T and ‘K

represent

(B) r—intrinsic rate of natural (B) r-3eIE e o' S0

increase, K — carrying capacit
1 s o R T, K — T0000M SueS
(C) r-—extrinsic rate of natural
increase, K — productive capacity (C) r- T e oP° TdTeF
(D) r - extrinsic rate of natural [T, K- Q@C&"i@a‘ 39335%&3
K . :
decrease, carrying capacity D) - o8t @Q} & et e = sster
R3,x°, K — 50000077 FemAes
54. Net primary productivity (NPP) in an
ecosystem is

(A) GPP-R=NPP
(C) GPP-NPP=R

54. TOXO @d%&i)@ﬂ “NPP (KJ&S@? T
waaudﬁ@) oo
(A) GPP-R=NPP

(B) GPP + R = NPP
(C) GPP-NPP=R

(D) R-NPP-=GPP : (D) R - NPP=GPP
55. 83 BINSJYNYY, oI TWORT F[|HD
55. Which among the following is not a §,030088 gRnmoNe)?

functional unit of the ecosystem ? :
: (A) QFoTPeIT

(B) RRe30do0e Fgor'

(A) Decomposition

(B) Nutrient cycling

—_
(C) Energy flow (C) I TS

(D) Pollution (D) O=T R‘.D@Sﬂ

Space for Rough Work / 2,083 Wﬁi i
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56. Match for M and N with species-area | 56, FJ@EoD) M 2 N N BedOR,
relationship shown in the graphic _H i o = i’
representation below and choose the DYIes-DTeD ”Guoqﬂdaﬂi Epe0R0T
correct option. 2803nT 033031

0320.
? o f M
: 2
: 16
‘o N &) N
2} 1
3
= »
Avea 3o -
(A) M—>S=CA% N-logS=1logC +
(A) M—>S=CA% N->logS=1logC + Z log A
Zlog A A
A - (B) M>S=CZ" N> logC=logS+
(B) M->S=CZ% N—>logC=1logS + Zlog A
- Z log A . .
(C) M>S=CA“ N->logS=1lgC +
(C) M—rS:CAZ,NﬂlugS=lngC+ Al:gz : =
AlogZ 1
(D) M—}S:AZC,N—}lugZA=lugC+ (D) fﬁjg—éS=AZ s oE LA = O
log S
57. eI FOGEI wazdnd morendemngd)

57.

Select the option from the following which
is not a major characteristic feature of
biodiversity hotspots :

DPOTBQLIR, B3 FINT 50INP0T €501
(A) TR RosB0D TRIerned

E;: Earfe nEmbe; ;f :?:c:es B e @d 6 it
estrucrion o anitats
_ C) B 203,03 = TN
(C) Abundance of endemic species = 3 903 N‘-‘Jgﬁ DY

(D) Large number of exotic species

58.

(D) B o808 BRSNS BIerdnisd
Cdns BRAF, FoTF F0o30FR) TY RoBOT

58. The biomagnification of which pollutant 5
causes a decline in the bird population ? TOOTE L3N0 FOTEDTIONTS
(A) Mercury (A) THTOA
(B) SO0, (B) #tgp‘ %ﬁiﬁw
Space for Rough Work / .00 395%%5'
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59. Snow blindness is caused due to

(A)

(B)

(C)

(D)

60. Match the items of Column I with those of

Column II and choose the correct answer.

Preformed 11.
antibodies

3. Colostrum I11.
PMNL IV.

Select the code for the correct answer

from the options given below :

1 2 3 4
A) IV IT I III
B) I II vV III
© 1Iv II I A"
D) VvV II IV I

Global warming

Ozone depletion

Greenhouse effect

Biomagnification

Column I

Hepatitis B L.
vaccine

V.

60.

Column II
IgA

Against snake
venom

Neutrophils
Yeast
Basophils

59. ﬁr&g{e 2] 0= IR, 202D arndod

QVOEPNIZT

(A)

(B)

(6)
(D)

000

ONST TR
Ldnes TXO Feeod
BRCOTOS TOFHIT
wodReRRN BT

I SQoaRnexd) ®wwo I

BEBOBIron BeodH, FORT L0ZOTI

S0ZRA.
5000 I Fow0 II
1. Buedesze 0. o8 1. 1A
2. QTORFF, II. BN IR
ES0LLTIDR 23T,
3. Neay Toeo 1. SRR,
4, &.0%F . .0 IV. oW’

ed

V. BeiRee’

Bodegny FHooDOT IO YVITRT) 0K :

(A)
(B)
(C)
(D)

1 2 3 4
IV IT I 11
I II v I

b=

IV II \'/

'S II v I

Biology
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mmnﬁ Mles aiaeﬁ - 2018
dToe QoD Nehod
18-04-2018 ﬁt:ﬁmg 3. 10.30 dow 11.50 © =I8R

NI dnca’

oy woRniss | wily ©30 | v30x A noxy S=0
60 80 AN 70 IS

NEH AnEd WosSohy, WSoN0

v 1017

L
2,

oo’ 030 JIFOHY WHB) Jeied JFEY TNQITADS 4GS o, D BIW wode unFod 2o DI, G ReOrERY,

080 SoeQimosoon B TP, FIFoL, AR 28 Ber YT Fo¥T, YomY B. 10.30 UT FoIT APBRTOIYTH.

3. azmbd dcdcnd TE@IBod DI h.oo.uTr. wZT TIFoh JFFY Beea’ wode SADFTD, WRETRAERY,

L3
5.

Ig, T3god [TFIT St DI FTH Yo oD, WIS GRSY LT wioHBed.
L.20.60°. 4030 TdFoD FYRna ANDE NS Teer I TRBBER.

Snuded :

¢ £

g0 @

10.

b.20.00¢. 2030 TIFobY HoQITRADS Hvon Terad, IRt / TMBSRAROD / WoKmoh.
Soedde dof 2. 10.40 § w3, vQabIoRA,

o TF TIhodh wORNBYHT reer e, 3rodhewsd.

* T3 TIIPoL wINE AT JFAYR, SeeBden Teh 3 FewomD,

e L.oo.ur. w30 JIFoDY wwZdN TROOPTLIDTID.

OPPERYR T, BeWIRW

TP, ©IsohQ i 60 Fromy, I3 Ine 4 wEd voly WITAW IS,

Shedde Bo' ©ont 6. 10400 Fo¥0 TP, VIFoD WORNERWS Acor IR B TI VIFoHQ oPoFPSe WEINW INOFNYTIe
ALFT oW wodY eI TOm BeNyP vgme cdRYte Duonsh DLLBeendode DONTW, DUITBLEROM, B 0e3 VNGT
Bnrde 308@ SHedRoioos BB TEFoLTW, WHTAENIEAY, Fo3T  L.00.80". VI TFoDY LIOTD TWOOHTFH.
SNoHF 70 IWTINYY :

o T3 IPob, 2updonoT LO. ,

o T3 IFoD A daui oLy WE oD MITNYY NoodRE LvIUS™W, woly Sna.

o T3 WIFoLQT TR LDOrETNDE IO ITIW, L.oo.uo. I TsohY ekt B Hodobh Hood ReALT KoroHAT
FIID, Ve oPTe I Tobod YT oo FaTRon Momerer BborngHmd.

i ..ui'i

|[CRECTEN® | ® 00 ®0O0F OO0 e
@ ® © Oleeod ®®©6

& L.20.o0". WIS Tfods, m, T IRE M IS0 wE¢ XY TN Mg DI, IF HOONIE, uGoos b.oo.uU. Kl
T3foDY LIdTN PO S[kor.

I3, BIFoDY SRS O moriaay S $oxd LvTodRNA. L.oo.MT. 0 B3fohD, TTE euTodeentLen.

godod dof woud 4. 11.50 ¢35 Fozd BORFHTW, Q. F, 2B BYTY OOOIW, ANOI WMNTY BJos.

L.ao.ur, vt Tfohay, 8RER DHedmoton obgeysodd Jedo.

Lolols ] mt%zmdid: &E%ﬁd mOVOD, %@ih (fao =I) 3, SIc JeDBROBD  IPWOCD ohFRITSODI, (vgprod T?)
eghriel Jobo SPoSRTNRN DI ﬂmmmﬂ::a LTple Sk olvl

¢OE0 TIOH FPOR, word JHF oo WUIZN 2B,

ss:ccx e doh T, rwg IO az;éarncﬂ SHEEY SNOBmAD a.g,sdm L omeUde TodE G woNT U sod
agas g,sodm SreEnE.
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